[ Ix2+2=22

A H)=Cl++J+)

[ Jx2+2=22




7159 olg B

N
ol

o

©

g o
~ N
NN
CE
Q@ ©
go o
~ N
N
F o

o

#7150 B 41 [x3
74715 WY 4 ¢ [J+2

[ Jx6+2=38

6




%
el
jp

i JA =G o]

otz

3.

o] meFe Az YU,
- BRH e S5t BAEe] 59

ol 19 7 A .

B

Ef
off

.

ul

T
it
=l
N
o|J
,_._MOI
A
&5
E._‘Mﬂ_m,b
— o7 X
,_._Mo.m_.LAT
N
o RTIE
‘I\)dﬂ
JmLA_.,_ﬂ
Br O Fu
KA —
Hx L
o Hr <k
—_
DT e
5 o W
,m.LWE,NI
w N B

Bl

=

fite)

o 2
ool
(] =
o =
<+ [
o+
B~
Mm +
Call

[ Jx3+1=19

[ Jx3=18




BA40) 49k mAE o] 25 getdEy 25 G




of
3
%]
oju
1jn
o
or
2
N
-
X
o
Ton
or
e
of Ef
..m_u N3
Hr
R
T R
T A A



23799 Sot A2

6.

[ Jx3+1=19

Cl+1+((Ix2) =
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